

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLB 9294G

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BONNET (CONSISTENT)	NOT NECESSARY	1,230.20	-
2	FRONT BONNET HINGE @195.20 (CONSISTENT)	NOT NECESSARY	390.40	-
1	FRONT BONNET LOCK (CONSISTENT)	NOT NECESSARY	365.20	-
1	FRONT BONNET INSULATOR (CONSISTENT)	NOT NECESSARY	227.30	-
1	FRONT GRILLE (CONSISTENT)	CRACKED	562.20	381.10
1	FRONT GRILLE LOGO (CONSISTENT)	NOT NECESSARY	101.20	-
1	FRONT GRILLE BASE (CONSISTENT)	NOT NECESSARY	365.20	-
1	FRONT SUPPORT PANEL (CONSISTENT)	NOT NECESSARY	1,652.20	-
1	FRONT SUPPORT PANEL TOP GARNISH (CONSISTENT)	NOT NECESSARY	471.00	-
2	HEAD LAMP @2,865.50 (CONSISTENT)	O/S CRACKED (1PC ONLY)	5,731.00	1,150.00
2	FRONT FENDER (CONSISTENT)	NOT NECESSARY	1,318.00	-
2	FRONT FENDER INNER SHIELD @186.50 (CONSISTENT)	NOT NECESSARY	373.00	-
1	FRONT BUMPER (CONSISTENT)	DENTED / TORN	1,850.00	751.10
1	FRONT BUMPER LOWER GRILLE CHROME RIM (CONSISTENT)	NOT NECESSARY	325.30	-
1	FRONT BUMPER LOWER GRILLE (CONSISTENT)	NOT NECESSARY	465.10	-
2	FRONT BUMPER LOWER GRILLE SIDE GARNISH @37.50 (CONSISTENT)	NOT NECESSARY	75.00	-
2	FRONT BUMPER SIDE RETAINER @48.70 (CONSISTENT)	NOT NECESSARY	97.40	-
2	FRONT FOG LAMP @425.50 (CONSISTENT)	NOT NECESSARY	851.00	-
2	FRONT FOG LAMP COVER @75 (CONSISTENT)	NOT NECESSARY	150.00	-
2	FRONT FOG LAMP BASE @65.10 (CONSISTENT)	NOT NECESSARY	130.20	-
1	FRONT BUMPER SPONGE (CONSISTENT)	TORN	352.20	120.00
1	FRONT BUMPER REINFORCEMENT (CONSISTENT)	NOT NECESSARY	895.20	-
1	FRONT BUMPER TOP BEAM (CONSISTENT)	NOT NECESSARY	295.60	-
1	RADIATOR FAN MOTOR (CONSISTENT)	NOT NECESSARY	626.50	-
1	AIRCON FAN COWLING (CONSISTENT)	NOT NECESSARY	388.60	-
1	AIRCON FAN BLADE (CONSISTENT)	NOT NECESSARY	202.70	-
1	REAR WINDSCREEN GLASS MOULDING (CONSISTENT)	NECESSARY	186.70	145.10
1	REAR TAILGATE EMBLEM 'ESTIMA' (CONSISTENT)	NECESSARY	86.70	86.70
1	REAR TAILGATE ESTIMA EMBLEM (X) (CONSISTENT)	NECESSARY	78.30	78.30

Report Ref No. CS/ASM22009704/Ucy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR TAILGATE LOGO (CONSISTENT)	NECESSARY	85.20	85.20
1	REAR TAILGATE (CONSISTENT)	BADLY DENTED	2,135.20	1,681.00
1	REAR TAILGATE INNER LOCK (CONSISTENT)	DENTED /JAMMED	692.40	509.90
1	REAR TAILGATE LOCK CATCH (CONSISTENT)	NOT NECESSARY	165.20	-
2	REAR TAILGATE HINGE @ 42.70 (CONSISTENT)	NOT NECESSARY	85.40	-
2	REAR TAILGATE 2 ABSORBER HOLDER @ 380.20 (CONSISTENT)	NOT NECESSARY	760.40	-
1	REAR TAILGATE TRIM BOARD (CONSISTENT)	DISTORTED / TORN	815.20	641.10
2	REAR TAILGATE TRIM BOARD SIDE GARNISH @ 82.10 (CONSISTENT)	NOT NECESSARY	164.20	-
1	REAR TAILGATE TRIM BOARD CENTRE TOP COVER (CONSISTENT)	NO SUCH PARTS	68.20	-
1	REAR TAILGATE CENTRE TOP GARNISH (CONSISTENT)	CRACKED	286.70	286.70
2	REAR TAILGATE NUMBER PLATE LIGHT @ 46.10 (CONSISTENT)	NOT NECESSARY	92.20	-
1	REAR BOOT RUBBER (CONSISTENT)	TWISTED	498.70	399.10
2	REAR TAILGATE REFLECTOR @ 492.60 (CONSISTENT)	CRACKED	985.20	985.20
1	REAR TAILGATE CENTRE REFLECTOR (CONSISTENT)	NOT NECESSARY	387.10	-
1	REAR TAILGATE CENTRE HANDLE POCKET (CONSISTENT)	NOT NECESSARY	76.20	-
2	REAR TAILLAMP @ 781.50 (CONSISTENT)	CRACKED	1,563.00	1,563.00
2	REAR TAILLAMP PANEL @ 215.00 (CONSISTENT)	TO REPAIR SEE LABOUR	430.00	-
1	REAR END PANEL (CONSISTENT)	BADLY DENTED	782.30	645.10
1	REAR END PANEL TOP GARNISH (CONSISTENT)	DISTORTED	278.40	278.40
1	REAR END PANEL BOTTOM GARNISH (CONSISTENT)	DISTORTED	167.60	167.60
1	REAR LUGGAGE PANEL (CONSISTENT)	BADLY DENTED	1,165.00	1,165.00
1	REAR LUGGAGE PANEL TOP COVER (CONSISTENT)	DISTORTED	516.00	516.00
1	REAR LUGGAGE PANEL CARPET (CONSISTENT)	NO SUCH PARTS	625.20	-
1	REAR LUGGAGE PANEL LOWER CROSS BEAM (CONSISTENT)	TO REPAIR SEE LABOUR	272.50	-
1	REAR BUMPER (CONSISTENT)	DISTORTED	1,452.20	751.10
2	REAR BUMPER SIDE RETAINER @ 42.10 (CONSISTENT)	BENT	84.20	84.20
2	REAR BUMPER SIDE LONG RETAINER @ 51.30 (CONSISTENT)	BENT	102.60	102.60
2	REAR BUMPER REFLECTOR @ 85.90 (CONSISTENT)	NOT NECESSARY	171.80	-

Report Ref No. CS/ASM22009704/Ucy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR BUMPER TOW COVER @ 62.70 (CONSISTENT)	O/S DEFORMED (1PC ONLY)	125.40	45.00
2	REAR BUMPER SPONGE @ 76.10 (CONSISTENT)	NOT NECESSARY	152.20	-
1	REAR LOCK ANTENNA (CONSISTENT)	NOT NECESSARY	427.60	-
2	REAR FENDER INNER TRIM BOARDS @ 751 (CONSISTENT)	DISTORTED / TORN	1,502.00	1,502.00
	LESS 25% DISCOUNT		-9,239.73	-3,530.13
			27,719.17	10,590.37
	SPECIAL NETT ITEMS			
1	REAR WINDSCREEN GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	80.00	40.00
1	SET REAR PARKING SENSOR (SN) (CONSISTENT)	SHORTED	450.00	200.00
1	REAR REVERSE CAMERA (SN) (CONSISTENT)	NOT NECESSARY	550.00	-
2	FRONT AND REAR NUMBER PLATE (SN) (CONSISTENT)	CRACKED	90.00	80.00
2	REAR FENDER QUARTER GLASS SEALANT @ 60.00 (SN) (CONSISTENT)	NOT NECESSARY	120.00	-
1	REAR BOOT COVER TRIM BOARD CLIP (SN) (CONSISTENT)	NECESSARY	50.00	50.00
2	REAR FENDER TRIM BOARD CLIP @ 50.00 (SN) (CONSISTENT)	NECESSARY	100.00	50.00
			1,440.00	420.00
	<u>LABOUR</u>			
	TO CHECK WIRING.		350.00	30.00
	APPLY ANTI RUST CHEMICAL.		350.00	90.00
	REMOVE AND REFIX UPHOLSTERY CUSHION SEAT, CARPET AND REPAIR SEAT.		550.00	100.00
	REMOVE AND REPLACE REAR WINDSCREEN.		150.00	120.00
	REMOVE AND REPLACE PARKING SENSOR.		150.00	50.00
	REMOVE AND REFIX TWO PCS FENDER QUARTER GLASS.	NOT NECESSARY	200.00	-
	PANEL BEATING REMOVING AND REPLACING NEW PARTS. INCLUSIVE OF THE REPAIR OF REAR TAILLAMP PANEL AND REAR LUGGAGE PANEL LOWER CROSS BEAM.		2,800.00	2,000.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

12,000.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO SPRAY PAINTING AND ETC.		2,500.00	1,600.00
			7,050.00	3,990.00
	GRAND TOTAL		36,209.17	15,000.37

Report Ref No. CS/ASM22009704/Ucy3m4

**RECOMMENDED COST OF LUMP SUM REPAIRS** 

(TO ITS PRE-ACCIDENT CONDITION)

CHUA KANG SENG

**Licensed Appraiser**